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All answers must be written on the answer sheet; write answers to five questxons in each row, for

example:
1AJ2AJ3BI4BISB
6C7C8D9D 10D

"I. Questions 1 to 4. Read the stories of identical twms and match names with plct:unes (there are |
two pictures/answers for each pair of twins).

1. Tony and Roger ( )
2. Jerry and Mark ( )
3. Paula and Kitty ( )
4. Oscar and Jack ( Y

Do you know any

identical twins? Identical
twins look the same, and they
often do the same things —
wear the same clothes, listen
to the same music, eqt the
same food, and even do the
same: jobs.

But why? Because t]‘le{// re
twinsP Or because they grow
up together in the same family?
Well, here are some twins
who.didn’t grow up together.
They went to live in different

families when they were

babies, and they met for the
first time when they were

_adults.

o Tony and Roger met when
they were 24. They both use

the same after-shave, smoke

the same cigarettes and use

“the same kind of toothpaste.
_And they both hold a pen in

the same, unusual way.

¢ Tina and Jane were 36
when they. first met. They
wear seven rings on their
fingers. One has a son called
Andrew Richard, and the
other has a son called Richard
Andrew. .

e Jerry and Mark are 40.
They. both have = big
moustaches, and wear the
same kind of glasses. They’re
both electricians, and . in
their free time they work as
firefighters. °

®  Paula is 26. After she met
her twin Kitty for the first
time, she sent her a birthday
present. When she opened
her own birthday present
from Kitty, it was exactly the
same thing. ‘ )
® Oscar and Jack met when
they were 65. They both read
magazines from the back to the
front, and when they’re in alift,
they like to frighten the other

people by sneezing loudly.
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I1. Questions 5 to 10. Look at the list of TV programmes and choose the correct channel for
- each question.

- 5. Is there any quiz show about music tonight? Channel ()

* 6. Which Channel is the best for news? Channel ( )
7. Is there any football on this evening? Channel ( )
8. I'd like to watch cartoon. Channel ( ) ‘

- 9.1 want to watch a good documentary about the internet. Channel ()

10. I like romance tonight, but not the soaps, they are too short. Channel ()

6.00 News, weather
6.30 Sports news
6.45 Today. The
main stories behind -
the news.
'7.30 Focus: The
World Wide Web.
How is the internet

changing our fives? -

8.30 Wildiife on
One. The lions of
the Sahara.

9.00 _Nev‘o)s, weather
9.15 Business
week

1%

6.00 Dancing
Tl shoes (1942). -
Fred Astaire and
Ginger Rogers star
in this romantic
musical.

7.45 News

round-up
8.15 True Grit
(1969).

" Western starring

John Wayne.
b 23t S AR

C

v G.OO T;e boys“

next door. Comedy

‘series.

6.30 Detective!
Who shot the
pianist? Another
murder mystery for
Inspector Watlis.
7.30 That’s the
question. Quiz
show with Matt
Murphey.

8.00 News

8.15 My first billion.
Interviews with very
rich people. This
week: Bill Gates.
9.00 Downtown.
Jill falls in love — and
Rod has a problem.
9.30 Streetiife. More
soap-from the City.

Will Sue and Trev get '

back together?

snowboarding.

\%

" 6.00 Football, live

from Milan.

8.00 Formuila 1
motor-racing. All
the latest news from
Tokyo.

8.30 X-treme
sports:
Skateboarding and

9.00 Sports news
9.15 Rocky 2
(1983) .

Sylvester Stallone
stars as boxing hero
Rocky Marciano.

E

-6.00 Cartoon time.

American cartoons.

- 7.00 Top of the

Charts. This week's
top 40.

7.30 Band of the
week: The Morgs in
Concert.

9.00 News

. 9.05 Play it again,

Sam! Music quiz.

This week's.guest is
Susan Shields.
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I11. Questions 11 to 20. Choose the_answer that best completes the sentence: 4
11. Not only ' : places of beanty, they serve scientific and educational purposes as’
X?%otamcal gardens to be B)are botamca] gardens C) botanical gardens D) to be botanical
gardens

12. In 1791 Quebec was divided into two sections, Upper Canada and Lower Canada,
were ruled by elected assemblies. - ‘
A) in which both B) both of them C) they both D) both of thch

13. In Michigan, over six hundred feet deep
A) salt deposits B) where salt deposits are C) having salt deposits D) there are salt deposxts

14. The melting point is the temperature ' a solid changes to a liquid.
*A) which B)on which C)at which D) to which '

15. rises to the surface of the Earth, a volcano is formed.
A) Liquid magma ~B)whenever liquid magma C) liquid magma, which D) That hquxd magma

16. by the graduation requirements, the student dili gently prepared
for the upcoming examination. . . -
A) Dissuaded . . . negligible

. B) Persuaded . . . acrimonious
C) Undaunted . . . stringent
D) Aghast . . . bizarre

17. Because of his record of lying to police, the suspect was regarded as a(n)
A) irascible . . . disputatious

B) straight . . . incorrigible

C) circuitous . . . insipid

D) inveterate . habitual

18. Philosophers tell us that one’s lifetime is ___ when considered from the viewpoint
of making humans appear much less 1mp0ttant than they think in the gmnd
scheme of things.

A) laudatory .. prestxdlgltatlon
- B)jaded .. youth ' :
O ephemeral . eternity
D) gauche . . theology

19. Some experts think that the origin of schizophrenia is ; others believe it is

A) contiguous . . . environmental
B) congenital . . . environmental
C) contagious . . . pathological
D) exogenous . . . celestial

20. Can you believe that I won the photo contest with the of the two pictures that
was most , even though 1 only tried to hang them where there were nails.

A) sophistry .. hallow

B) juxtapositxon . aesthetic

.C) trappings. . . romantic

D) corollary . . . extraneous
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IV. Questions 21 to 30. Read the following passages and choose the best answer for each
question )

For most modern airport, the major design problem is scale—how toallow adequate space on the
ground for- maneuvering wide-body jets while permitting convenient and rapid movement of
passengers departing, arriving, or transferring from one flight to another. _

Most designs for airport terminals take one of four approaches. ‘In the linear plan, the

" building may be straight or curved. The passengers board aircraft parked next to the terminal,
This plan works well for small airports that need to provide boarding areas for only a few
aircraft at a time. :
' In the pier plan, narrow corridors or piers extend from a central building. This plan '
allows many aircraft to park next to the building. However, it creates long walking distances for
passengers. , '

In the satellite plan, passengers board aircraft from small terminals that are separated
from the main terminals. Passengers reach the satellites by way of shuttle trains or
underground passageways that have shuttle trains or moving sidewalks.

.~ The transporter plan employs some system of transport to move passengers from the
terminal building to the aircraft. If buses are used, the passengers must climb a flight of stairs -
to board the aircraft. If mobile lounges are used, they can link up directly with the aircraft and
_protect passengers from the weather. ‘ ’

21. It can be inferred that scale would not pose a major design problem at airports if
A) aircraft did not need so much space to maneuver on the ground

B) airports are larger o ,

C) airplanes could fly faster ~ .

D) other forms of transportation were more efficient

22. The passage implies that the term “satellite plan” is used because

A) satellites are launched and tracked from the airport

B) the airport makes use of the most modern, high-technology equipment
C) small terminals encircle the main terminal

D) airports that make use of this plan utilized data from weather satellites

23. It can be inferred that mobile lounges would be more desirable than buses when
A) passengers are in a hurry ‘

B) passengers need to save money

C) passengers need protection from the elements .

D) passengers need to travel for a long distance from the terminal to the aircraft

24. The linear plan would probably be best at

A) a busy airport

B) an airport used by many small aircraft

C) an airport that serves a large city

D) an airport with only a few arrivals or departures

Another critical factor that plays a part in susceptibility to colds is age. A study done by the
University of Michigan School of Public Health revealed particulars that seem to hold true for
the general population. Infants are the most cold-ridden group, averaging more than six colds in |
their first year. Boys have more colds than girls up to age three. Af'ter the age of three, girls are
more susceptible than boys, and teenage girls average three colds a year to boy’s two. '




EELETPE RN XS Ly LR P

RATGRAD) | LR AL Fra A
AWEER 100 54 . ORBRB A S 100 4

The general incidence of colds continues to decline into maturity. Elderly people who
are in good health have as few as one or two colds annually. One exception is found among
people in their twenties, especially women, who show a dise in cold infections, because people in
this age group are most likely to have young children. Adults who delay having children until
their thirties and forties experience the same sudden increase in cold infections. A

The study also found that economics plays an important role. As income increases, the
frequency at which colds are reported in the family decreases. Families with the lowest income
suffer about a third more colds than families at the highest end. Lower income generally forces
people to live in more cramped quarters than those typically occupied by wealthier people, and
crowding increases the opportunities for the cold virus to travel from person to person. Low
income may also, adversely influence diet The degree to which poor nutrtion affects
susceptibility to colds is not yet clearly established, but an inadequate diet is suspected of
lowering resistance generally. ’

25. The paragraph that precedes this passage most probably deals with
A) minor diseases other than cold.

B) the recommended treatment of colds.

C) a factor that affects susceptibility to colds.

D) methods of preventing colds

26. Which of the following is closest in meaning to the word ‘particulars’ in the first
paragraph? . :

A) minor errors '

B) small distinctions

C) individual people

D) specific facts -

27. What does the author claim about the study discussed in the passage?
A) [t contains many inconsistencies. ‘

B) It is most relevant to children. o

C) It contradicts the results of earlier studies in the field.

D) Its results apparently are relevant for the population as a whole.

28. There is information in the second paragraph of the passage to support which of the
following conclusions?

A) Men are more susceptible to colds than women.

B) Children infect their parents with cold. .

C) Infant boys is the most likely group to catch colds. )

D) People who don’t bave children are more susceptible to colds than those do.

29. Find a best place to insert the following sentence into paragraph three:

*Low income may also have an adverse effect on diet.”

The study also found that economics plays an important role. A) As income increases, the
frequency at which colds are reported in the family decreases. B) Families with the lowest
income suffer about a third more colds than families at the highest end. C) Lower income
generally forces people to live in more cramped quarters than those typically occupied by
wealthier people, and crowding increases the opportunities for the cold virus to travel from
person to person. Low income may also, adversely influence diet. D) The degree to which poor
nutrition affects susceptibility to colds is not yet clearly established, but an inadequate diet is
suspected of lowering resistance generally.

30. The author’s tone in this passage could best be described as
A) neutral and objective ‘

B) tentative but interested

C) humorous

D) highly scientfic and critical
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